N = 0l & At & M A

20199 & 20l & LB H MAHAIS
SH: Mo1S
M MOlS A
Sol BH=XME HASY L HIAANL X (ol @)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
MAIS 275,120 231,401 43,719
MATS AP EHI 196,000 136,540 59,460
HESAHEH WHASE L HoAAIL X 148,010 90,050 57,960
FOUTXAMH 2 63,050 52,050 11,000
201 et A | 13,050 13,050 0
01 AFR2t2l Yl 13,050 13,050 0
OFUXNXHEHESYE LEt=SH| 4,050,000 4,050
ORI+ 30,000& x25H x12& 9,000
301 dEtE A= 49,200 39,000 10,200
09 HAIAHI EA= 3,000 3,000 0
OFURNIAAS 908 L SHETNXSH A8
(12al) 100,000& *25H 2,500
OFXNEZz)H 24 500,000& 500
12 JEtE &2 46,200 36,000 10,200
OFQXX T2 LA 46,200,000& 46,200
405 XHaHF SHI 800 0 800
01 M = ZFSHI 800 0 800
OFUXNXSs AIF4A HEH F 01O
800,000& 800
FOIHEHOIAIE XA 67,960 38,000 29,960
201 Bt A | 27,360 21,900 5,460
01 AP 2t 2l Yl 8,110 7,220 890
OF A 2o HHIANAEY 292 2,200,000& 2,200
OigoEDe A2HY BAR
130,000& = 12& 1,560
OMdz=ZX HAH| 1,000,000& 1,000
O3=£J & Hld €xE S 2,500,000& 2,500
ogy - Al 50,000& x12& 600
O 2 MM wH (1) 250,000& 250
02 3524t 19,250 14,680 4,570
Os&dI w2+ 2,250
-9 175,000& = 12& 2,100
A= 150, 000& 150
OX& KXl (2TH) 7,000,000 7,000
O&IIHAEES Y Y MIEBH =2
300,000& 300
OFAN KAlHI 9,000,000& 9,000
O&FSE Q2 =HE 700,000& 700
203 &R =&H| 2,200 1,700 500
03 A=A AR =AH| 2,200 1,700 500




SA: MOS
Ha: MOIS AR

Sl BHSXNME HASY L BIAL N (el:de)
SA - BB B () - MM - BES Ol &t o San HmEET
Odo1ES SELURAIMFA 2,200,000& 2,200
401 Al HIZ 201 8] 38,400 14,400 24,000
01 A& HI 38,400 14,400 24,000
OFAL AIE E=3 At 6,000,000 6,000
OMa1s =Z 2 Y 8,400,000& 8,400
O15 UJA AIAE 24 (30H) 2 - &X
13,500, 000& 13,500
O&AMN AlIEE &M 6,500,000 6,500
OHE=XNHH A= SE ME 4,000,000& 4,000
Alglster stotEHSU 3 17,000 0 17,000
201 LB-2E| 17,000 0 17,000
03 A2 Z Hl 17,000 0 17,000
OAl2lster stitg MsU3l 17,000, 000& 17,000
SclbtE 324 46,490 46,490 0
SCIBZESEHIH 46,490 46,490 0
301 L2 A= 46,490 46,490 0
05 SE -0 -EHEEES248E 46,490 46,490 0
Os&E=+¢ 200,000& x13H x12& 31,200
Os&ddN= 200,000& x13H %23 5,200
OsH3YFHg 20,000 x13H x23| x12& 6,240
OetE &=l 50,000& 77 *13] 3,850
AEE =X HF FA 1,500 0 1,500
8Esd =X 23 1,500 0 1,500
202 04 Hl 1,500 0 1,500
01 = LH Yl 1,500 0 1,500
OXsd =XZR =& ol 1,500, 000& 1,500
HY2FZH (MH1S) 79,120 94,861 A15,741
J23H(MH1S) 79,120 62,220 16,900
=23 (4H18) 79,120 62,220 16,900
201 Let24d] 35,400 35,400 0
01 At 22/l 11,000 11,000 0
ORA2 AR 22| 11,000, 000& 11,000
02 =224l 24,400 24,400 0
OHIIR3 20,000,000& 20,000
O&ot=ER3 1,700,000& 1,700
ORER= 2,700,000& 2,700
202 o4dl 24,840 17,760 7,080
01 = LH o4 1l 24,840 17,760 7,080
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